

$$1) \int u'v = [uv] - \int uv'$$

$$I = \int 2t \arcsin(t) dt$$

o. p. h. $u' = 2t$ $v = \arcsin(t) \Rightarrow u = t^2$ $dv' = \frac{1}{\sqrt{1-t^2}}$

$$I = t^2 \arcsin(t) - \int \frac{t^2}{\sqrt{1-t^2}} dt$$

o. p. h. $J = \int \frac{t^2}{\sqrt{1-t^2}} dt$ avec $t = \sin x$

$$\text{Donc } J = \int \frac{\sin^2 x}{\cos x} + \cos x dx = \int \sin^2 x dx$$

$$= \int \frac{1 - \cos 2x}{2} dx$$

$$= \frac{x}{2} - \frac{\sin(2x)}{4}$$

$$= \frac{x}{2} - \frac{\sin x \cos x}{2}$$

$$= \frac{\arcsin(t)}{2} - \frac{t\sqrt{1-t^2}}{2}$$

$$\boxed{\text{Donc } I = t^2 \arcsin(t) - \frac{\arcsin(t)}{2} + \frac{t\sqrt{1-t^2}}{2} + C}$$

$$2) K = \int \arcsin(\sqrt{x}) dx$$

o. p. h. $x = t^2$

(2)

$$Y_1 = \int \text{Arctg}(\sqrt{u}) du = \int \text{Arctg}(t) + 2t dt$$

$$= \int 2t \text{Arctg}(t) dt$$

$$= t^2 \text{Arctg}(t) - \frac{\text{Arctg}(t)}{2} + \frac{t\sqrt{1-t^2}}{2}$$

$$= 2 \text{Arctg}(\sqrt{u}) - \frac{\text{Arctg}(\sqrt{u})}{2} + \frac{\sqrt{u}\sqrt{1-u}}{2}$$

$$Y_1 = 2 \text{Arctg}(\sqrt{u}) - \frac{\text{Arctg}(\sqrt{u})}{2} + \frac{\sqrt{u-u^2}}{2} + C$$